BEAARESE
Mobile Laptop Desk with Side Table

SP901-B
Made in Taiwan HZEERAAE-V2
Installation Instruction



EHImR B imaR BEogE A EHIHE
Part No. Sub-part No.|Sub-part Qty. Description Part Qty.
1 1 EX T 1
Main Table
Al R4

2 ! Side Table !

3 1 SRS 1
Non-Slip Cushion

]

4 1 Cup Holder 1
Tilting Mechanism

5 1 Al AR 2R 1
Side Table Bracket

. 1 R 1
Adjustable Tube

Base




EHamT | EHIHE| B4R BHEE B B~
Part No. | Part Qty. | Sub-part No. | Sub-part Qty. Description Image
1/4" x 10mm & %%
A-A 6 1/4" x 10mm Philips Screw %
A-1 1
AB 5 M6 x 20mm MEER 4%
M6 x 20mm Philips Screw
M5 x 20mm R #
B-1 1 B-A 4 M5 x 20mm Philips Screw W
C-A 1 M8 x 50mm 75 7 EER ik
M8 x 50mm Screw
Q)

C-1 1 C-B 1 @25 x @8.5 x 2.0mm HE 7] @
@25 x B8.5 x 2.0mm Steel Washer | \ Y%
5mm ABRF —

C-C 1 5mm Allen Wrench
MmmABER
D-1 1 D-A 1 11mm Hexagon Socket E\
X FE BB+ FIBME T

% ADDITIONAL TOOLS REQUIRED
e Phillips screwdriver




Step1:Screw ® <tilting mechanism> into the back of @ <main table> with (A-A) phillips
screw by phillips scewdriver.




SR FATFREEFSAARKFEORRREREAORARNR

Step2: Screw ® <side table bracket> into the back of @ <side table> with (A-A) phillips screw
by phillips scewdriver.




HER= . EH T FIRHE FAB-A)BRMFBOHMEUARORIRIRER ,
HAOMEREB.

Step3 : Screw (B-A) phillips screw through the order of @ <adjustable tube> and
® <side table bracket> into the bottom of ® <tilting mechanism> by phillips scewdriver.

=




FERIY : A (C-C)ANARFF(C-A)RMEFIB(C-B)EER, @KEME ,
HAOHMETHEER, (FHLERMEIRE  BREMTEESR, )

Step4:Use (C-C)Allen Wrench to screw (C-A) Screw through the order of
(C-B) Steel Washer, <Base> into @ <adjustable tube>.Lock the screw
to the tightest to avoid wobble.




SBRA ﬁﬁ]-I-?—ﬂ!?.’;,%%iﬂ_%ﬂ%;A-B)-l-?Méﬁiﬁﬁﬁﬁﬁﬁv%%@@Ii*&?ﬁﬁﬁl@i#&%%&o
HOMEBRAORI RN , ERAEE
Step 5:Screw (A-B) phillips screw through the bottom of @O <main table> into ® <non-slip cushion>
by phillips scewdriver.Put @ <cup holder> into @ <side table>.




04
=

=F
a

SRERE

L

HEDHERERRERAE

MRRERBE | B

5oy
=]

SHE

==
S

H

H

FERETRANFIE | JE

Tilting Function

Turn the tension knob in clockwise to increase the tilt angle, counter-clockwise to narrow the tilt

angle.




S ERER Y ) ]
— FH AR SARE bLR S SRS | 0B SE A 0 DUBR B A 1 E e
EUSEEAZENENBE.

FEEHEEES  EESEHE D U ER EEENE RS  EUEESHE,

Height Adjustable Function
One hand hold the bottom of the side table bracket to avoid desktop from falling , another hand

loosen the rotary knob in counter-clockwise to lift or lower desktop, and then tighten rotary knob
in clockwise to secure desktop.

Stroke
340mm




REEBHmBE 3
EREEERHmER L GRBNERE ,
{EFH(D-AF1mmf\ﬁﬁﬁmﬁiiﬂiﬁﬂg)ﬁfﬁﬁﬁi—%ﬂﬂEIEIEO
iR HEUBHREETGERNTEFL

Y78 EH N B R BB WAL,

Caster Adjustable Function:
Srew with nut by (D-A) hexagon socket from the top of counter weight till the casters attached steady
and won't wobble, must not keep tighten to avoid casters too tight to move smoothly.

)







